2004 2005 2006
5 -
38 39 40
1,056 1,150 1,200
13 8 7
5 -
487 500 550
5 5 5
1,050 1,200 1,300
28 30 30
3,200 3,400 3,400
2 2 2




2004 2005 2006
5 -
21 65 31
1 1 1
1,000 1,100 1,200
5 -
3 5 3
538 1,517 680
4 3 4
470 360 470
5 -
100% 130% 150%




2004 2005 2006
6 -
100% 100% 100%
100% 100% 100%
4 4 4
6 -
18% 24% 32%
(128/695) (170/695) (220/695) )*100
16 16 16
1 1 1




2004 2005 2006

3 3 3

67 71 71

12 12 12

5,110 5,110 5,110

6 -
2 4 2
20 40 20

60%

65%

70%




( )
78,215,741| 67,811,023 10,404,718( [ 96,383 857,280 ]
19,441,098 20,459,986 1,018,888| [ 96,383 857,280 ]
5: 18,524,296| 19,207,211 682,915 [ 857,280 ]
5- 8,595,908 6,083,771 2,512,137
4,906,748 3,873,748 1,033,000
(2120-2121-120-202-01)
86 49,900 * 5 *5 *1 = 1,248
(2120-2121-120-203-03)
= 12,000
(2120-2121-120-301-11)
30,000 * 350 = 10,500
(2120-2121-120-307-02)
= 4,083,000
= 300,000
= 500,000
2,279,160 2,210,023 69,137
(2120-2121-120-201-01)
70,000 * 11 * 2 = 1,540
« ) = 70,000
(2120-2121-120-202-01)
49,900 * 4 *1 *3 = 599
49,900 *3 *2 *10 = 2,994
(2120-2121-120-203-03)
= 13,000
(2120-2121-120-301-10)
(=2,191,027)
@) = 35,444
(15 ) = 549,908




)
@ ) = 311,893
@ ) = 254,489
© ) = 316,080
© ) = 303,748
© ) = 351,137
= 68,328
1,410,000 0 1,410,000
(2120-2121-120-201-01)
= 210,000
(2120-2121-220-307-05)
600,000
( ) = 600,000
5- 1,565,227 1,318,587 246,640 [ 857,280 ]
647,183 535,918 111,265| [ 147,536 ]
(2120-2121-120-201-01)
, = 4,000
(2120-2121-120-202-01)
49,900 * 3 *2 *2 599
(2120-2121-120-301-11)
. (=700)
100,000 * 3 = 300
50,000 * 1 * 8 400
200,000 * 12 2,400
50,000 * 1 * 4 = 200
(2120-2121-120-307-02)
240,000

(2120-2121-210-307-05)

<

>




37,800
[ 11,340 26,460]
3,400
[ 1,700 1,700]
38,000
[ 19,000 19,000]
6,100
[ 3,050 3,050]
197,892
[ 86,040 111,852]
52,812
[ 26,406 26,406]
(2120-2121-220-307-05)
63,280
821,744 694,419 127,325( [ 709,744 ]
(2120-2121-210-308-01)
< >
127,890
[ 127,890 ]
413,694
[ 413,694 ]
48,960
[ 48,960 ]
48,960
[ 48,960 ]
31,040
[ 31,040 ]
39,200




)
[ 39,200 ]
(2120-2121-220-308-01)
7,000,000 * 16 112,000
58,300 49,500 8,800
(2120-2121-120-201-01)
() ,
1,200,000 * 5 = 6,000
(2120-2121-120-307-02)
2,400,000 * 5 = 12,000
= 13,500
) = 8,800
= 18,000
20,000 20,000 0
(2120-2121-120-201-01)
()
1,000,000 * 10 = 10,000
(2120-2121-120-301-11)
1,000,000 * 10 = 10,000
18,000 18,750 750
(2120-2121-120-307-02)
= 8,000
= 10,000
5- 2,620,197 4,733,694 2,113,497
2,404,197 4,533,694 2,129,497
(2120-2121-120-201-01)
70,000 * 5 * 2 700
(2120-2121-120-202-01)
49,900 * 3 *2 *5 = 1,497




( )
(2120-2121-120-203-03)
= 2,000
(2120-2121-220-403-01)
( ) = 2,400,000
216,000 200,000 16,000
(2120-2121-220-308-01)
= 200,000
= 16,000
5- 1,092,964 1,071,159 21,805
1,023,164 953,959 69,205
(2120-2121-120-201-01)
OCA 8,000 * 45 *1 = 360
150,000 * 45 * 1 = 6,750
17,000 * 15 = 255
, 1,000,000 * 5 = 5,000
(2120-2121-120-202-01)
49,900 * 2 *2 *4 = 799
(2120-2121-120-203-03)
= 1,000
(2120-2121-120-301-11)
(=1,000)
100,000 * 5 = 500
50,000 * 10 = 500
(2120-2121-120-307-02)
2005 = 150,000
2005 = 308,000
2005 = 60,000




( = )
2005 = 350,000
= 20,000
(2120-2121-120-307-04)
2005 = 120,000
69,800 117,200 47,400
(2120-2121-120-202-03)
- = 2,400
8 = 2,800
- = 2,400
- ) = 2,200
(2120-2121-120-307-02)
- C ) = 20,000
(2120-2121-120-307-04)
- = 20,000
8 = 20,000
4,650,000 6,000,000 1,350,000
4,650,000 0 4,650,000
(2120-2129-120-201-01)
@a ) = 2,566,040
(2120-2129-220-401-01)
a ) = 1,933,960
(2120-2129-220-405-01)
a ) = 150,000
916,802 1,252,775 335,973( [ 96,383 ]
204,208 200,882 3,326| [ 96,383 ]
39,132 49,882 10,750
(4110-4111-120-201-01)
30,000 * 80 = 2,400




-2005 9,000 * 450 = 4,050
5,000 * 250 = 1,250
= 1,000
( ) 1,000 * 700 * 2 = 1,400
5,000 * 500 = 2,500
VTR 12,000 * 75 = 900
5,000 * 250 * 90% = 1,125
5,000 * 250 * 90% = 1,125
40,000 * 50 = 2,000
30,000 * 150 = 4,500
1,500 * 2,000 = 3,000
70,000 * 58 = 4,060
70,000 * 2 *2 = 280
(4110-4111-120-202-01)

49,900 * 3 *3 *3 = 1,348
49,900 * 3 *3 = 450
( ) 49,900 * 4 * 4 *2 = 1,597
49,900 * 8 * 1 *2 = 799
49,900 * 4 * 1 *2 = 400
49,900 * 3 *1 = 150

( )
49,900 * 8 *2 = 799
49,900 * 6 *1 *2 = 599
49,900 * 8 *1 = 400
49,900 * 7 * 1 = 350
49,900 * 3 *1 = 150




( @ )
(4110-4111-220-206-00)
( ) ) 2,500,000 * 1 = 2,500
79,949 112,873 32,924 36,900 ]
(4110-4111-210-308-01)
= 52,142
[ 24,066 28,076]
= 17,680
[ 8,160 9,520]
= 10,127
[ 4,674 5,453]
70,547 20,547 50,000] [ 59,483 ]
(4110-4111-210-308-01)
= 70,547
[ 59,483 11,064]
14,580 17,580 3,000
(4110-4111-120-201-01)
-2004
62,500 * 16 = 1,000
15,000 * 12 = 180
(4110-4111-120-203-03)
= 6,000
(4110-4111-120-303-00)
50,000 * 8 = 400
(=7,000)
3,000,000 * 1 = 3,000
2,000,000 * 1 = 2,000
1,000,000 * 2 = 2,000
134,380 469,135 334,755




116,250 122,250 6,000
(4110-4111-220-403-01)
(=76,250)
) 10,000,000 * 9 * 50% = 45,000
1,500,000 * 21 * 50% = 15,750
2,500,000 * 10 * 50% = 12,500
3,000,000 * 2 * 500 = 3,000
40,000
11,690 23,540 11,850
(4110-4111-120-201-01)
30 (=5,290)
- 300 * 2,400 = 720
- 50,000 * 32 = 1,600
- 15,000 * 48 = 720
- 450,000 * 5 = 2,250
100,000 * 5 * 1 = 500
(4110-4111-120-301-11)
30 (=5,100)
100,000 * 16 = 1,600
50,000 * 16 = 800
(=2,700)
- (=550)
200,000 * 1 200
100,000 * 200
50,000 * 3 150
- (=1,550)
500,000 * 500
300,000 * 2 600




-10-

)
150,000 * 3 = 450
— (=600)
300,000 * 1 = 300
150,000 * 2 = 300
(4110-4111-120-303-00)
30 50,000 * 16 = 800
6,440 6,440 0
(4110-4111-120-201-01)
(=4,640)
_ 15,000 * 16 = 240
- 1,000 * 16 - * 100 = 1,600
- 1,400 * 2,000 = 2,800
(4110-4111-120-203-03)
= 1,000
(4110-4111-120-301-11)
50,000 * 4 = 200
(4110-4111-120-303-00)
50,000 * 12 = 600
6- 277,450 289,868 12,418
106,600 119,600 13,000
(4110-4111-220-401-01)
30,000,000 * 2 = 60,000
1,600,000 * 14 = 22,400
(UPS) 8,000,000 * 1 = 8,000
400,000 * 13 = 5,200
11,000,000 * 1 = 11,000
68,846 71,430 2,584

(4110-4111-120-201-01)




2,074,535,000 * 5% * 1/5 = 20,746
(=38,685)
- 28,402,022 * 20 * 6% = 34,083
- 23,603,736 * 3 * 6% = 4,249
- 5,868,539 * 1  * 6l = 353
120,000 * 10 = 1,200
(4110-4111-220-405-01)
(=6,215)
. Mcu 3,927,000 * 1 3,927
(48V/20A,24V/5A) 1,905,700 * 1 = 1,906
PSU 381,150 * 1 382
2,000,000 * 1 2,000
70,055 67,637 2,418
(4110-4111-120-201-01)
30,000 * 1 * 12 = 360
(=66,455)
- . (=13,411)
242,935 * 1 * 12 2,916
(64K) 874,566 * 1 * 12 10,495
- . (=50,597)
@ ) 18,537 * 70 * 12 15,572
9.6k, 70 )
41,696 * 70 * 12 35,025
- . (=2,447)
27,170 * 3 * 12 979
(9.6K) 40,755 * 3 * 12 1,468
15,000 * 18 *12 = 3,240
31,949 31,201 748

-11-




-12-

)

(4110-4111-110-101-02)

(=19,651)

17,525 * 3 * 365 * 1.024 = 19,651

(4110-4111-120-201-01)
5,000 * 3 *2 * 365 = 10,950

(4110-4111-120-202-01)
49,900 * 3 *3 *3 1,348

6- 300,764 292,890 7,874
80,794 82,920 2,126

(4110-4112-120-201-01)

70,000 * 5 * 1 = 350
(=12,425)
- 5,000 * 100 = 500
- 8,000 * 50 = 400
- () 10,000 * 40 = 400
_ 12,000 * 150 = 1,800
- 10,000 * 100 = 1,000
- 150,000 * 30 = 4,500
- 7,000 * 100 = 700
- Q) 10,000 * 100 * 2 = 2,000
- 6,000 * 100 = 600
- 15,000 * 35 = 525
21 (=25,515)

_ 20,000 * 100 = 2,000
- 40,000 * 50 = 2,000
- 12,500 * 50 = 625
- 12,000 * 50 = 600




30,000 * 80
12,000 * 80
10,000 * 50
10,000 * 50
20,000 * 50
15,000 * 50
30,000 * 50
10,000 * 50
20,000 * 50
48,000 * 60
30,000 * 70
12,000 * 50
40,000 * 70
20,000 * 50
30,000 * 40
12,000 * 50
(=3,060)

180,000 * 15
180,000 * 2
2,500 * 12 * 20

(=19,000)
2,500 * 16 400
1,500 * 5 400

(=4,350)

2,500 * 15 100
1,500 * 4 100

2,400
960
500
500

1,000
750

1,500
500

1,000

2,880

2,100
600

2,800

1,000

1,200
600

2,700
360
600

16,000
3,000

3,750

600
6,400
1,600

-13-




-14-

( @ )
(4110-4112-120-202-01)
49,900 * 6 * 4 = 1,198
49,900 * 3 *2 = 300
49,000 * 3 * 2 *2 = 599
49,000 * 3 * 2 *4 = 1,198
49,900 * 2 * 2 *2 = 400
49,000 * 3 *1 *5 = 749
(4110-4112-120-203-03)
= 1,000
(4110-4112-120-301-11)
(=550)
50,000 * 3 = 150
200,000 * 2 = 400
(4110-4112-120-303-00)
50,000 * 30 = 1,500
4,410 4,410 0
(4110-4112-120-201-01)
(=1,810)
- 500 * 700 * 1 = 350
- 1,500 * 700 * 1 = 1,050
- 110,000 * 1 * 1 = 110
- 15,000 * 20 * 1 = 300
(4110-4112-120-203-03)
= 1,000
(4110-4112-120-301-09)
300,000 * 1 = 300




(4110-4112-120-301-11)
(=800)
50,000 * 8 * 1 = 400
200,000 * 2 *1 = 400
(4110-4112-120-303-00)
50,000 * 10 * 1 = 500
210,000 200,000 10,000
(4110-4112-220-403-03)
, = 200,000
= 10,000
5,560 5,560 0
(4110-4112-120-201-01)
(=4,410)
- 500 * 800 * 1 = 400
- 1,500 * 800 * 1 = 1,200
- 110,000 * 1  * 1 = 110
- 15,000 * 20 * 1 = 300
- 3,000 * 800 * 1 = 2,400
(4110-4112-120-301-11)
(=650)
50,000 * 9 = 450
200,000 * 1 = 200
(4110-4112-120-303-00)
50,000 * 10 * 1 = 500
71,256 81,487 10,231
(2120-2121-120-201-01)
= 15,000
= 15,500

-15-




-16-

( @ )
(2120-2121-120-202-01)
10,000 * 35 * 8 * 12 33,600
(2120-2121-120-203-04)
(300,000 + 5,000 * 9 ) * 12 4,140
(2120-2121-220-405-01)
700,000 * 1 = 700
(4110-4111-120-301-08)
35,810 * 1 * 12 430
100,000 * 1 * 12 1,200
45,000 * 1 * 12 540
146,000 * 1 = 146
58,703,387| 47,269,550 11,433,837
(2120-2121-320-401-01)
(=2,000,000)
= 2,000,000
(2120-2129-320-401-01)
(=14,652,237)
(*98) = 14,652,237
(2120-2129-420-701-00)
10,000,000
(5110-5111-310-311-01)
- 97 ) 36,140
- "9 ) 65,810
03 ) 600,000
(5110-5111-310-311-04)
AG (=12,506,800)
97 ) 47,200,000,000 * 4.4% * 1 = 2,076,800
9% ) 72,000,000,000 * 4.4% * 1 = 3,168,000




( )
99 ) 91,000,000,000 * 4.4% * 1 = 4,004,000
oo ) 30,000,000,000 * 4.4% * 1 = 1,320,000
o2 ) 38,000,000,000 * 5.1% * 1 = 1,938,000
AG (=1,742,400)
97 ) 28,800,000,000 * 4.4% * 1 = 1,267,200
98 ) 10,800,000,000 * 4.4% * 1 = 475,200
(5110-5111-310-601-01)
- 97 ) 1,400,000
- 98 ) 1,000,000
(5110-5111-310-601-04)
AG (=9,900,000)
97 ) 59,000,000,000 * 1/10 = 5,900,000
98 ) (80,000,000,000 * 1/10)/2 = 4,000,000
AG (=4,800,000)
97 ) 36,000,000,000 * 1/10 = 3,600,000
98 ) 12,000,000,000 * 1/10 = 1,200,000

-17-




